
CHEMISTRY

BOOKS - MODERN PUBLICATION

ALCOHOLS,PHENOLS AND ETHERS

Exercise

1. What is the general formula of alcohol.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_n8fMnm1n5Q0U
https://dl.doubtnut.com/l/_Ba4uYL7RqL1i


2. General formula of primary alcohol is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−COH

−COOH

−CH2OH

−CHO

3. Alcohols of low molecular weight are :

https://dl.doubtnut.com/l/_Ba4uYL7RqL1i
https://dl.doubtnut.com/l/_XUdZZnojp9n5


A. Soluble in water

B. Soluble in water are heating

C. Insoluble in all solvents

D. Soluble in All solvents

Answer: A

Watch Video Solution

4. Why excesive solubility of lower alcohols in

water?

Watch Video Solution

https://dl.doubtnut.com/l/_XUdZZnojp9n5
https://dl.doubtnut.com/l/_4hSiL8q8u0We


5. Methanol and ethanol can be distiguished by

the following.

A. By reaction with metallic sodium

B. By reaction with caustic soda

C. By heating with iodine and washing soda

D. By heating with zinc and inorganic mineral

acid

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_4hSiL8q8u0We
https://dl.doubtnut.com/l/_yo1eahbijqN0


6. Which one is obtained by Williamson synthesis?

A. 

B. 

C. 

D. ROR`

Answer: D

Watch Video Solution

R − OH

R2CHOH

RCOR

7. Dehydration of ethanol gives:

https://dl.doubtnut.com/l/_1UeApMcPrMi1
https://dl.doubtnut.com/l/_dMEdjgk2dPXU


A. Acetic acid

B. Ethane

C. Ethylene

D. Acetylene

Answer: C

Watch Video Solution

8. On conversion into the Grignard reagent

followed by treatment with absolute ethanol, how

https://dl.doubtnut.com/l/_dMEdjgk2dPXU
https://dl.doubtnut.com/l/_G49aQ8B3mwy2


many isomeric alkyl chlorides would yield 2-

methylbutane :

A. 2

B. 3

C. 4

D. 5

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_G49aQ8B3mwy2


9. In cold countries, ethylene glycol is added to

water in the radiators of cars during winters. It

results in:

A. Lowering of f.pt,.

B. Reducing the viscosity

C. Reducing the specific heat

D. Increasing the conductivity

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_8ll6BZsnzOoO
https://dl.doubtnut.com/l/_WTQrvHkr7e4H


10. Which alcohol is most acidic:

A. Methanol

B. Ethanol

C. Isopropyl alcohol

D. t-butyl alcohol

Answer: A

Watch Video Solution

11. Which is not an alcohol :

https://dl.doubtnut.com/l/_WTQrvHkr7e4H
https://dl.doubtnut.com/l/_sYVufXZjQPkd


A. 

B. 

C. 

D. `C_(6)H_(5)OH

Answer: D

Watch Video Solution

CH2 = CHCH2OH

CH2OHCH2OH

C6H5CH2OH

12. A neutral compound gives red colour with ceric

ammonium nitrate. Which group is present?

Watch Video Solution

https://dl.doubtnut.com/l/_sYVufXZjQPkd
https://dl.doubtnut.com/l/_WafO85JrQiOz


13. The number of isomeric alcohols of formula

 is:

A. 2

B. 4

C. 7

D. 8

Answer: B

Watch Video Solution

C4H10O

https://dl.doubtnut.com/l/_WafO85JrQiOz
https://dl.doubtnut.com/l/_1RcqmdLvxJrz


14. Enzymes are :

A. Living organisms

B. Dead organisms

C. Complex nitrogenous substances produced

from living cells

D. none

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_IFv1748LwiVG


15. The strongest acid among the following is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH ≡ CH

C6H6

C2H6

CH3OH

https://dl.doubtnut.com/l/_TqxI20n5rLM5


16. Which of the following methods cannot be

used for the preparation of an ester:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

RCOOH + R'OH + OH −

RCOOH + R'OH + Pyrid ∈ e

RCOOH + R'OH + H +

(RCO)2 + R'OH + Pyrid ∈ e

https://dl.doubtnut.com/l/_ny8G5trGmTAJ


17. What is Methylated spirit ?

Watch Video Solution

18. The end product of the following sequence is:

A. 

B. 

C. 

D. 

CH3CHO

CH3CH2OH

CH3COCH3

CH4

https://dl.doubtnut.com/l/_RSc7Smr8Zi69
https://dl.doubtnut.com/l/_SoGALO8BiiQf


Answer: B

Watch Video Solution

19. In the following sequence the product (C) is:

A. Alcohol

B. Ether

C. Alkene

D. none

https://dl.doubtnut.com/l/_SoGALO8BiiQf
https://dl.doubtnut.com/l/_boQ4tOnK2oPd


Answer: B

Watch Video Solution

20. Scientfic aspect of fermentation was first

studied by :

A. Pasteur

B. Brot

C. Buchner

D. Liebig

Answer: C

https://dl.doubtnut.com/l/_boQ4tOnK2oPd
https://dl.doubtnut.com/l/_HqzpXhRhgPnS


Watch Video Solution

21. Metal alkoxides contain:

A. metal-carbon Bond

B. metal-carbon Bond

C. metal-methyl bond

D. none

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_HqzpXhRhgPnS
https://dl.doubtnut.com/l/_DizBJRoamBeO
https://dl.doubtnut.com/l/_sdNKJxZ8sLX4


22. What is the characteristic group of secondary

alcohol ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_sdNKJxZ8sLX4


23. absolute alcohol is prepared from rectified

Spirit by:

A. fractional distillation

B. steam distillation

C. azeotropic distillation

D. vacuum distillation

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_f1xPuE9qLgtR


24. when isopropyl alcohol vapours are passed

over heated copper it gives:

A. acetone

B. ethyl alcohol

C. methyl alcohol

D. acetaldehyde

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_nX5AxXzICHKS


25. The correct order of the ease with which

primary, secondary and tertiary alcohols can be

dehydrated using concentrated  is :

A. tertiarygt secondarygt primary

B. primary gtsecondary gttertiary

C. secondary gttertiarygt primary

D. secondarygt primarygt tertiary

Answer: A

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_x3llUo9YYd6n
https://dl.doubtnut.com/l/_WQmaEdfNTbYm


26. glycerine is a:

A. Aldehyde

B. Carboxyllic acid

C. trihydric alcohol

D. Ketone

Answer: C

Watch Video Solution

27. glycerol on treatment with oxalic acid at 110°C

forms?

https://dl.doubtnut.com/l/_WQmaEdfNTbYm
https://dl.doubtnut.com/l/_ESMDzTgfKaFk


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

28. methyl alcohol reacts with Phosphorus

trichloride to form?

A. 

https://dl.doubtnut.com/l/_ESMDzTgfKaFk
https://dl.doubtnut.com/l/_9FWVQCCHig1k


B. 

C. 

D. 

Answer: B

Watch Video Solution

29. Power alcohol is a mixture of petrol and

alcohol in the ratio :

A. 4:1

B. 1:4

https://dl.doubtnut.com/l/_9FWVQCCHig1k
https://dl.doubtnut.com/l/_e438mY4mRjne


C. 2:1

D. 1:2

Answer: A

Watch Video Solution

30. Ethyl alcohol is denatured by :

A. methanol and formic acid

B. 

C.  and 

D.  and Pyridine

KCN

CH3OH C6H6

CH3OH

https://dl.doubtnut.com/l/_e438mY4mRjne
https://dl.doubtnut.com/l/_i3iSO4mBJbMx


Answer: D

Watch Video Solution

31. For the preparation t-butylmethlether

Williamson.s method the correct choice of

reagents is :

A. Methoxide and t-butyl Bromide

B. methanol and 2-bromobutane

C. 2-butanol and Methyl Bromide

D. t-butoxide and Methyl Bromide

https://dl.doubtnut.com/l/_i3iSO4mBJbMx
https://dl.doubtnut.com/l/_hZVCx0jItIvK


Answer: D

Watch Video Solution

32. The organic liquid that mix freely with water is:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CHCl3

C2H5OH

C6H6

CS2

https://dl.doubtnut.com/l/_hZVCx0jItIvK
https://dl.doubtnut.com/l/_vFAlPYS7khp5


Watch Video Solution

33. Butan-2-ol is :

A. primary alcohol

B. secondary alcohol

C. tertiary alcohol

D. none

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_vFAlPYS7khp5
https://dl.doubtnut.com/l/_dlSc40qjVXls


34. Methyl alcohol on oxidation with acidified

 gives :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

K2Cr2O7

CH3COCH3

CH3CHO

HCOOH

CH3COOH

https://dl.doubtnut.com/l/_vGo9mx8PgDbF


35. An organic compound when treated with

bleaching powder gave chloroform. The organic

compound may be:

A. ethane

B. ethanol

C. ethyne

D. acetic acid

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_HrEP3LBNGdWi
https://dl.doubtnut.com/l/_AILbniBywJLJ


36. Methyl alcohol is _______acidic than ethyl

alcohol :

A. less

B. more

C. equally

D. none

Answer: B

Watch Video Solution

37. Vinyl carbinol is:

https://dl.doubtnut.com/l/_AILbniBywJLJ
https://dl.doubtnut.com/l/_QOqWCb4elT8o


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

HOH2C − CH = CH2

CH3C(OH) = CH2

CH3 − CH = CH − OH

38. 2 mole of ethanol are burnt. The amount of

 obtained will be:

A. 132g

CO2

https://dl.doubtnut.com/l/_QOqWCb4elT8o
https://dl.doubtnut.com/l/_oV5adOfILloh


B. 44g

C. 176g

D. 88g

Answer: C

Watch Video Solution

39. Oxidation of 2-propanol by  and

dilute  leads to the formation of :

A. propanal

B. propanoic acid

K2Cr2O7

H2SO4

https://dl.doubtnut.com/l/_oV5adOfILloh
https://dl.doubtnut.com/l/_cm0R0W50tgQy


C. methanoic acid

D. propanone

Answer: D

Watch Video Solution

40. An aldehyde is obtained when an alcohol is :

A. oxidized

B. reduced

C. dehydrated

D. hydrogenated

https://dl.doubtnut.com/l/_cm0R0W50tgQy
https://dl.doubtnut.com/l/_7dzhBXgpuvNY


Answer: A

Watch Video Solution

41. The reagent used to distinguish propanol -1

and propanol-2

A. ammoniacal silver nitrate

B. fehling's solution

C.  and 

D. schiff's reagent

Answer: C

I2 NaOH

https://dl.doubtnut.com/l/_7dzhBXgpuvNY
https://dl.doubtnut.com/l/_MMbpZqdNYzBF


Watch Video Solution

42. 2-propanol when heated with copper at 570 k

yields:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3CH = CH2

CH3CHO

CH3. CO. CH3

CH2 = C = CH

https://dl.doubtnut.com/l/_MMbpZqdNYzBF
https://dl.doubtnut.com/l/_gjF6UBEA4KGU


43. The compound which will not react with

sodium is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C2H5OH

CH3CHOHCH3

CH3OCH3

CH3COOH

https://dl.doubtnut.com/l/_gjF6UBEA4KGU
https://dl.doubtnut.com/l/_9Wpd1vBX4AAc


44.  on heating with periodic

acid forms:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2COHCH2OH

2CO2

2HCHO

2HCOOH

https://dl.doubtnut.com/l/_zYkrbAjHnzkb


45. Which compound is not an associated liquid:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C6H5OH

CH3NH2

CH3Cl

CH3OH

https://dl.doubtnut.com/l/_TZmRSJAN6QBL


46. Glycerol can be obtained by reacting 

with

A. fats

B. alcohol

C. Petroleum

D. soap

Answer: A

Watch Video Solution

NaOH

https://dl.doubtnut.com/l/_nZUesklq3nOn


47. n-propyl alcohol and isopropyl alcohol are:

A. chain isomers

B. functional isomer

C. position isomers

D. none

Answer: C

Watch Video Solution

48. grain alcohol is the common name of:

https://dl.doubtnut.com/l/_woBsGeQekYSA
https://dl.doubtnut.com/l/_lhQp7p79KV2V


A. amyl alcohol

B. ethyl alcohol

C. methanol

D. none

Answer: B

View Text Solution

49. when  reacts with glycerine it forms:

A. mono-sodium salt

B. di-sodium salt

Na

https://dl.doubtnut.com/l/_lhQp7p79KV2V
https://dl.doubtnut.com/l/_r6ym1EOz2iW8


C. tri-sodium salt

D. all

Answer: B

View Text Solution

50. A certain compound is a viscous, high boiling

point liquid, miscible with water. The compound is

most likely to be:

A. `CH_(3) CH_(2)OH

B. CH3CH2CH2OH

https://dl.doubtnut.com/l/_r6ym1EOz2iW8
https://dl.doubtnut.com/l/_PVzYmqTxn4b8


C. 

D. 

Answer: D

Watch Video Solution

CH3CHOHCH3

CH2OHCHOHCH2OH

51. The boiling points of the alcohols are higher

than the alkanes of corresponding molecular

weight because .

A. alcohols can form H-bond with water

B. alkanes are non-polar

https://dl.doubtnut.com/l/_PVzYmqTxn4b8
https://dl.doubtnut.com/l/_Fia9Y9FYpFoi


C. alcohols are polar

D. alcohols have low densities

Answer: A

Watch Video Solution

52. which of the following is a secondary alcohol:

A. 

B. 

C. 

D. 

CH3CH2CH2CH(CH3)CH2OH

CH3CH(CH3)OH

(CH3)3COH

CH3CH2COOH

https://dl.doubtnut.com/l/_Fia9Y9FYpFoi
https://dl.doubtnut.com/l/_NeW73j6PD7BH


Answer: B

Watch Video Solution

53. What would be the best starting material for

the preparation of tert. Butyl alcohol using

Grignard reagent:

A. 

B. 

C. 

D. None

https://dl.doubtnut.com/l/_NeW73j6PD7BH
https://dl.doubtnut.com/l/_rqBEvS15Oh2t


Answer: A

Watch Video Solution

54. Which of the following alcohols is most likely

to yield 2-methylpropanoic acid.

A. propan -2 - ol

B. butan -1 -ol

C. 2-methylpropan-1-ol

D. 2-methylpropan-2-ol

Answer: C

https://dl.doubtnut.com/l/_rqBEvS15Oh2t
https://dl.doubtnut.com/l/_E2qt3wTOE4fV


Watch Video Solution

55. A suitable combination of reagents leading to

the preparation of tert butyl ether in Williamson's

synthesis is :

A. 

B. 

C. 

D. None of the above

Answer: A

h id l i

https://dl.doubtnut.com/l/_E2qt3wTOE4fV
https://dl.doubtnut.com/l/_NGUORDGy4Dfg


Watch Video Solution

56. How many alcohols and how many ethers are

represented by the formula .

A. four alcohols and three ethers

B. four alcohols and three ethers

C. 2 alcohols and 2 ethers

D. 3 alcohols and 2 ethers

Answer: A

Watch Video Solution

C4H10O

https://dl.doubtnut.com/l/_NGUORDGy4Dfg
https://dl.doubtnut.com/l/_RyycnsCIFN22


57. Ethoxyethane (b. pt. ) is more volatile

than ethanol (b.pt. ) because of :

A. the greater relative molecular mass of the

Ether

B. the strength of the  bonds in the

Ether

C. the highly polar  group in ethanol and

strong H- bonding

D. the different shapes of the molecule

Answer: C

35∘C

78∘C

C − O

−OH

https://dl.doubtnut.com/l/_SilIkeHed1w3


Watch Video Solution

58. Diethyl ether is extensively used for solvent

extraction because of :

A. high solubility of organic compounds in

ether

B. high volatility of ether which can be

separated from the compounds by

distillation

C. both a and b

https://dl.doubtnut.com/l/_SilIkeHed1w3
https://dl.doubtnut.com/l/_3EaUX9u7hrWB


D. none of these

Answer: C

Watch Video Solution

59. The unshared electrons on the oxygen atom

on an ether (basic centre) account for all the

following except:

A. Combination like,

https://dl.doubtnut.com/l/_3EaUX9u7hrWB
https://dl.doubtnut.com/l/_uiPPFYJRaGDR


B. Formation of oxonium salts with acids such

as,




Watch Video Solution

60. When n-propyl methyl ether is treated with cold

HI:

A. methyl iodide and n propyl alcohol are formed

B. n propyl iodide and methyl alcohol are formed

https://dl.doubtnut.com/l/_uiPPFYJRaGDR
https://dl.doubtnut.com/l/_zF0wJHQI55xS


C.  and `CH_(3)CH_(2)CH_(2)I are formed

D. none of these

Answer: A

Watch Video Solution

CH3I

61. Which type of isomerism is most common among

ethers?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_zF0wJHQI55xS
https://dl.doubtnut.com/l/_TIRStI0vHBzK


D. 

Answer: C

Watch Video Solution

62. Which of the following about breeding is

incorrect ?

A.  can be hydrolysed to

C_(2)H_(5)COOH

https://dl.doubtnut.com/l/_TIRStI0vHBzK
https://dl.doubtnut.com/l/_Ng12TywHPJmX


B.  can be hydrolysed to 

C.  can be hydrolysed to

C_(2)H_(5)NH_2 and (NH_3)^-

D.  can be hydrolysed to

C_(2)H_(5)NH_2 and C_(2)H_(5)COOH.

Answer: C

Watch Video Solution

(CN)2

https://dl.doubtnut.com/l/_Ng12TywHPJmX


63. An alcohol on oxidation is found to give

 and . Name of

alcohol?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3COOH CH3CH2COOH

https://dl.doubtnut.com/l/_2UiZ99mbEVun
https://dl.doubtnut.com/l/_xPa4WIZsdILd


64. Isopropyl alcohol on oxidation gives:

A. acetone

B. ether

C. ethylene

D. acetaldehyde

Answer: A

Watch Video Solution

65. Which of the following will not give iodoform

test? 

https://dl.doubtnut.com/l/_xPa4WIZsdILd
https://dl.doubtnut.com/l/_5SR5Gm0eYjKh


A. methyl alcohol

B. ethyl alcohol

C. acetaldehyde

D. acetone

Answer: A

Watch Video Solution

(CH3OH, CH3COCH3, CH3CHO, C2H5OH)

66. When ethyl alcohol is oxidised with , it gives :Cl2

https://dl.doubtnut.com/l/_5SR5Gm0eYjKh
https://dl.doubtnut.com/l/_2tsRHYR7Q2vH


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3CHO

CH3COCH3

CH3COCl

COCl2

67. 3-pentanol is:

A. Aldehyde

B. 2°alcohol

https://dl.doubtnut.com/l/_2tsRHYR7Q2vH
https://dl.doubtnut.com/l/_bkcEeFIgaAfH


C. Ketone

D. Carboxylic acid

Answer: B

Watch Video Solution

68. Whose trivial name is Carbinol?

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_bkcEeFIgaAfH
https://dl.doubtnut.com/l/_VWD04ho6bm1E


Answer: B

Watch Video Solution

69. Primary , secondary and tertiary alcohols can be

distinguished by employing :

A. oxidation

B. Victor Meyer test

C. Lucas test

D. all of these

Answer: D

https://dl.doubtnut.com/l/_VWD04ho6bm1E
https://dl.doubtnut.com/l/_Vatf8h6h6b4o


Watch Video Solution

70. Which is most viscous ?

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

CH3OH

C2H5OH

HO − CH2 − CH2 − OH

https://dl.doubtnut.com/l/_Vatf8h6h6b4o
https://dl.doubtnut.com/l/_tuHAEWtJjpej
https://dl.doubtnut.com/l/_OfxrZXdy3gZi


71. Which of the following is least soluble in water ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3OH

C3H2OH

C4H9OH

C10H21OH

72. Lucas test is used for the determination of :

https://dl.doubtnut.com/l/_OfxrZXdy3gZi
https://dl.doubtnut.com/l/_iM0UwkpsZAtt


A. alcohols

B. phenols

C. alkylhalides

D. aldehydea

Answer: A

Watch Video Solution

73. Compound X reacts with  to give Y which on

treatment with  followed by propanoic acid as

the product what is X?

h id l i

PCl5

KCN

https://dl.doubtnut.com/l/_iM0UwkpsZAtt
https://dl.doubtnut.com/l/_uj79fceZIIuP


Watch Video Solution

74. How many isomers of  will be primary

alcohols ?

A. 5

B. 4

C. 2

D. 3

Answer: B

Watch Video Solution

C5H11OH

https://dl.doubtnut.com/l/_uj79fceZIIuP
https://dl.doubtnut.com/l/_BPvQXXTIG3Lp


75. Why ethanol is soluble in water?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_o0hYmxItSjm9


76. Which of the following will form yellow ppt. with

an alkaline solution of Iodine:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3CH2CH(OH)CH3

(CH3)2CHOH

CH3CH2OH

CH3CH(OH)CH3

https://dl.doubtnut.com/l/_3Jhw3hkn8u0T


77. Alcohols are isomeric with

A. acids

B. ethers

C. esters

D. aldehydes

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_NJm5xujgjuqc


78. sometimes explosion may occur while distilling

Ether. Explain

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ezOitWBkxVOS


79. Which of the following is used as anaesthetic :

A. 

B. 

C. 

D.  and 

Answer: D

Watch Video Solution

CHCl3

C2H5OH

C2H5OC2H5

CHCl3 C2H5OC2H5

https://dl.doubtnut.com/l/_DM2DJgeGsyo9


80. Reaction of t-butyl bromide with sodium

methoxide produces:

A. isobutane

B. isobutylene

C. sodium t-butoxide

D. t butyl methyl ether

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_bziTVvfS74gL


81. Primary , secondary and tertiary alcohols can be

distinguished by employing :

A. oxidation

B. Victor meyer's test

C. Lucas reagent

D. all

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_HEd9OhAHYrYo


82. the product formed in the following reaction

are:

A.  and 

B.  and 

C.  and 

D.  and 

Answer: A

Watch Video Solution

C6H5OH CH3I

C6H5I CH3OH

C6H5CH3 HOI

C6H6 CH3OI

https://dl.doubtnut.com/l/_npSgJpn5RCAN
https://dl.doubtnut.com/l/_Pt1kcSQ3N6PX


83. in the reduction, 

. What is the catalyst used in this reaction?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

R − CHO + H2 → RCH2OH

84. Iodoform test is not given by:

https://dl.doubtnut.com/l/_Pt1kcSQ3N6PX
https://dl.doubtnut.com/l/_8Qn59LgfpR7w


A. CH_3COCl

B. 

C. CH_3CONH_2

D. all

Answer: D

Watch Video Solution

CH3. COCH2COOC2H5

85. Widespread deaths due to liquor poisoning

occurs due to :

A. presence of lead compounds in liquor

https://dl.doubtnut.com/l/_8Qn59LgfpR7w
https://dl.doubtnut.com/l/_ba2NfEVDKvbV


B. presence of methyl alcohol in liquor

C. presence of ethyl alcohol in liquor

D. presence of carbonic acid in liquor

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_ba2NfEVDKvbV


86. Reaction of

 with

RMgX followed with hydrolysis produces :

A. 

B. 

C. 

D. 

RCHOHR

RCH2CH2OH

RCHOHCH3

RCH = = CHOH

https://dl.doubtnut.com/l/_BsidCVra1i9R


Answer: B

Watch Video Solution

87. Rectified spirit contains :

A. 75.0 %alcohol

B. 85.5% alcohol

C. 95.6% alcohol

D. 100% alcohol

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_BsidCVra1i9R
https://dl.doubtnut.com/l/_eDxi8t2ZMi9s


Watch Video Solution

88. The enzymes are killed :

A. at a very high temperature

B. during chemical reaction

C. under high pressure

D. in the absence of `(NH_(4))_(3)PO_(4)

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_eDxi8t2ZMi9s
https://dl.doubtnut.com/l/_jd07Sm3BUlyM


89. Glycerol has :

A. three primary alcoholic groups

B. 3 secondary alcoholic groups

C. one primary alcoholic group and two

secondary alcoholic groups

D. two primary alcoholic groups and one

secondary alcohol group

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_9XhP7PTIUE38
https://dl.doubtnut.com/l/_9boYGn5cUvcB


90.  on reaction with  will give

:

A. 

B. 

C. `CH_(3)CH_(2)OCH_(2)CH_(3)

D. 

Answer: D

Watch Video Solution

(CH3)3CONa CH3Br

(CH3)3COC(CH3)3

CH3OCH3

(CH3)3COCH3

https://dl.doubtnut.com/l/_9boYGn5cUvcB


91. Reaction,

 may be

used for the manufacture of:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

HCHO

HCOOH

CH3OH

CH3COOH

https://dl.doubtnut.com/l/_ev9rAdIEn3ex


92. What is the product forms when ethyl alcohol on

fermentation with acetobacilli in presence of air?

Watch Video Solution

93. Which organic compound found in wine

(alcoholic beverages)?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_ev9rAdIEn3ex
https://dl.doubtnut.com/l/_9IMAIqoGxZGy
https://dl.doubtnut.com/l/_qvdt9Nlz01oV


D. 

Answer: B

Watch Video Solution

94. What is the main product when 3-methyl-2

butanol on treatment with .

A. 

B. 

C. 

D. 

HCl

https://dl.doubtnut.com/l/_qvdt9Nlz01oV
https://dl.doubtnut.com/l/_2T4eamGkTQY1


Answer: A

Watch Video Solution

95. Isopropyl alcohol on oxidation gives:

A. acetone

B. ether

C. ethylene

D. acetaldehyde

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_2T4eamGkTQY1
https://dl.doubtnut.com/l/_PwJKz9xkbg0B


Watch Video Solution

96. which one does not give iodoform test?

A. methanol

B. ethanol

C. ethanal

D. acetone

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_PwJKz9xkbg0B
https://dl.doubtnut.com/l/_4kTJ429V4HEq


97. pentan-3-oI is:

A. Ketone

B. 2°alcohol

C. Carboxylic Acid

D. Aldehyde

Answer: B

Watch Video Solution

98. Which of the following is least soluble in water ?

https://dl.doubtnut.com/l/_viuVcJqTGKc9
https://dl.doubtnut.com/l/_1egAt20aFIwC


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3OH

C3H7OH

C5H4OH

C7H15OH

99. Methylene chloride on hydrolysis yields:

A. 

B. 

HCHO

CH3CHO

https://dl.doubtnut.com/l/_1egAt20aFIwC
https://dl.doubtnut.com/l/_5j1UgdNTmZlh


C. 

D. 

Answer: A

Watch Video Solution

CHCl3

CH3COCl

100. Conc.HCl reacts rapidly with :

A. 

B. 

C. 

D. all

CH3CH2OH

(CH3)2CHOH

(CH3)3COH

https://dl.doubtnut.com/l/_5j1UgdNTmZlh
https://dl.doubtnut.com/l/_HY6rtmrtCzMe


Answer: C

Watch Video Solution

101. complete the following reaction:

.

Watch Video Solution

CH3CH2OH + SOCl2 → _ __ _ +_ __ _+ HCl

102. Ethanol is obtained by.......... reaction of

acetaldehyde). (oxidation, reduction, polymerisation)

h id l i

https://dl.doubtnut.com/l/_HY6rtmrtCzMe
https://dl.doubtnut.com/l/_ZiM2Pwq6E7tm
https://dl.doubtnut.com/l/_8J4Fo5LJtaRx


Watch Video Solution

103. The structural formula of 2-butanol is _______.

Watch Video Solution

104. Ethyl alcohol is oxidised to __________ when

warmed with acidified  solution .

Watch Video Solution

K2Cr2O7

https://dl.doubtnut.com/l/_8J4Fo5LJtaRx
https://dl.doubtnut.com/l/_mO9VjrMooS6f
https://dl.doubtnut.com/l/_HaJwJakMalXF


105. tertiary alcohol is not ordinarily oxidized, but on

restrict oxidation, it yields____ having

one______carbon atom.

Watch Video Solution

106. ___________

Watch Video Solution

CH3COCl + C2H5OH →

107. Acid chloride on reduction with Lithium

Aluminium hydrate gives_____

https://dl.doubtnut.com/l/_Tm6YqPmljgdw
https://dl.doubtnut.com/l/_ub16r8rq8WSP
https://dl.doubtnut.com/l/_63jWQpJK0wb0


Watch Video Solution

108. ketones can be prepared by the oxidation

of______

Watch Video Solution

109. Acid chloride react with an_____to form an Ester

Watch Video Solution

https://dl.doubtnut.com/l/_63jWQpJK0wb0
https://dl.doubtnut.com/l/_l5u6SWCo3nZx
https://dl.doubtnut.com/l/_lBdR3Yid6HSh


110. Amine have _________ boiling points compared to

corresponding alcohols

Watch Video Solution

111. phenol gives violet colouration with

_____solution.

Watch Video Solution

112. Phenyl salicylate is otherwise knows as _____

Watch Video Solution

https://dl.doubtnut.com/l/_zLUKQbes45F5
https://dl.doubtnut.com/l/_AjJQsxQE8JIt
https://dl.doubtnut.com/l/_FVFZE8QL40p4


113. Phenol is less acidic than:

Watch Video Solution

114. Phenol reacts with mercuric acetate to form

_____and_____ when heated in presence of _____.

Watch Video Solution

115. When phenol is heated with zinc dust, the

product is

https://dl.doubtnut.com/l/_FVFZE8QL40p4
https://dl.doubtnut.com/l/_XQAOXuxTW6xg
https://dl.doubtnut.com/l/_NM2rh6Q5Ykhh
https://dl.doubtnut.com/l/_cWfmCgv51sCv


Watch Video Solution

116.  when dissolved in water gives a

solution with pH_____.

Watch Video Solution

C6H5OH

117. which of the following is soluble in water? (

, , , 

Watch Video Solution

CCl4

C6H6 CH3OH C2H6)

https://dl.doubtnut.com/l/_cWfmCgv51sCv
https://dl.doubtnut.com/l/_fKEwOTaygT7z
https://dl.doubtnut.com/l/_iUkNViwn7mV6


118. Write the structural formula of 3-pentamol.

Watch Video Solution

119. Which of the following compounds will not give

iodoform test:

Watch Video Solution

120. Name the alcohol present in pyroligneous acid .

Watch Video Solution

https://dl.doubtnut.com/l/_r1SnMjx2xSH0
https://dl.doubtnut.com/l/_rI7YhsVJRqdv
https://dl.doubtnut.com/l/_lvGfsyEZcWkH


121. Write the name and formula of the ester formed

in the reaction of acetyl chloride and methyl alcohol.

Watch Video Solution

122. What happens when propanol-1 is oxidised ?

Watch Video Solution

123. What happens when propanol-2 is oxidised by

acidified  solution?

Watch Video Solution

K2Cr2O7

https://dl.doubtnut.com/l/_dngbsndxPWGo
https://dl.doubtnut.com/l/_KUHTP8ER6VVV
https://dl.doubtnut.com/l/_pdgoPGcbmVny


124. What happens when propanaldehyde is reduced

by ?

Watch Video Solution

H2 /Ni

125. what happens when Acetone is reduced by 

/Ni?

Watch Video Solution

H2

126. What happens when aldehyde is reduced ?

https://dl.doubtnut.com/l/_pdgoPGcbmVny
https://dl.doubtnut.com/l/_OZWmZUo7wjki
https://dl.doubtnut.com/l/_pzcMAskLsPEU
https://dl.doubtnut.com/l/_8WPJdxQ9S4DD


Watch Video Solution

127. What happens when a secondary alcohol is

oxidised ?

Watch Video Solution

128. What happens when a ketone is reduced ?

Watch Video Solution

https://dl.doubtnut.com/l/_8WPJdxQ9S4DD
https://dl.doubtnut.com/l/_huxo3iwWKtul
https://dl.doubtnut.com/l/_EZm3XaBYe8yd


129. What happens when ethanol is warmed with

acidified ?

Watch Video Solution

K2Cr2O7

130. What happens when ethanol is heated with

conc.  at  ?

Watch Video Solution

H2SO4 140∘C

131. Which comopund has higher boiling point than

other : 

https://dl.doubtnut.com/l/_IiQFScU4Qagu
https://dl.doubtnut.com/l/_QVhvUXL4fygn
https://dl.doubtnut.com/l/_cVFka2FMil7b


Pentane orPentanol ?

Watch Video Solution

132. 1-Hexanol or Hexane which has has higher

bolling points ?

Watch Video Solution

133. Water acts as an acid in presence of :

Watch Video Solution

https://dl.doubtnut.com/l/_cVFka2FMil7b
https://dl.doubtnut.com/l/_qB0f47hdHrYX
https://dl.doubtnut.com/l/_G4H0IxJVsBv3
https://dl.doubtnut.com/l/_gD3vcbd4Amo0


134. To produce an ester, an acid has to be reacted

upon which reagent ?

Watch Video Solution

135. What is the product formed when ethyl acetate

is reduced with Na/alcohol?

Watch Video Solution

136. How is  of phenol compared to that of

ethanol.

Watch Video Solution

Ka

https://dl.doubtnut.com/l/_gD3vcbd4Amo0
https://dl.doubtnut.com/l/_KkTdLzZf6et5
https://dl.doubtnut.com/l/_sQpLYLenDc8P


Watch Video Solution

137. Write th IUPAC name of the following compound

:

Watch Video Solution

138. draw the structure of 2,6 -dimethyl phenol

Watch Video Solution

https://dl.doubtnut.com/l/_sQpLYLenDc8P
https://dl.doubtnut.com/l/_6hbtFrcpr2YP
https://dl.doubtnut.com/l/_K0MdEaSkXqnH
https://dl.doubtnut.com/l/_pvOhmMbuiXqN


139. how is phenol prepared from aniline?

Watch Video Solution

140. how will you convert propan-1-ol to propan-2-ol?

Watch Video Solution

141. how will you prepare tert butyl alcohol from

acetic acid?

Watch Video Solution

https://dl.doubtnut.com/l/_pvOhmMbuiXqN
https://dl.doubtnut.com/l/_pyukswcWB3Tr
https://dl.doubtnut.com/l/_JzN7cx03s6Oh
https://dl.doubtnut.com/l/_RDMeCaCVaH7X


142. how will you distinguish between 1-

phenylethanol and 2-phenyl ethanol?

Watch Video Solution

143. why are ethers relativity inert compounds?

Watch Video Solution

144. What are the products obtained when

 is treated

https://dl.doubtnut.com/l/_RDMeCaCVaH7X
https://dl.doubtnut.com/l/_CVfoZaWTzDvf
https://dl.doubtnut.com/l/_VAMNVoX57IQX


with HI

Watch Video Solution

145. rearrange the following compounds in the

increasing order of their boiling points:

, , 

Watch Video Solution

CH3 − CHO CH3 − CH2 − OH

CH3 − CH2 − CH3

146. How phenol is obtained from chlorobenzene ?

Watch Video Solution

https://dl.doubtnut.com/l/_VAMNVoX57IQX
https://dl.doubtnut.com/l/_6YkjGkTbMVqt
https://dl.doubtnut.com/l/_1ZdrMufbGfra


147. What is Schotten-Baumann reaction ?

Watch Video Solution

148. P nitrophenol is more acidic than phenol(

true/false)

Watch Video Solution

149. why phenol does not undergo substitution at

the OH group like alcohol?

https://dl.doubtnut.com/l/_1ZdrMufbGfra
https://dl.doubtnut.com/l/_MfrseFkOSgWJ
https://dl.doubtnut.com/l/_FeCty8srwFro
https://dl.doubtnut.com/l/_VlQe8P3Z9NOr


Watch Video Solution

150. how much bromine is needed to produce 2,4,6

tribromophenol from 1 mole of phenol?

Watch Video Solution

151. phenols are acidic than alcohols( true/ false)

Watch Video Solution

https://dl.doubtnut.com/l/_VlQe8P3Z9NOr
https://dl.doubtnut.com/l/_mcGVsNE8ma2q
https://dl.doubtnut.com/l/_h4ap5FtQbUB4


152. How will you synthesize salicylic acid from

phenol ?

Watch Video Solution

153. What happens when phenol is distilled with zinc

dust ?

Watch Video Solution

154. what is the reason for steam volatile behaviour

of ortho-nitro-phenol?

https://dl.doubtnut.com/l/_Qz8vXt69o6kr
https://dl.doubtnut.com/l/_GMxdGdwIAc0W
https://dl.doubtnut.com/l/_e3L1I8NfuMFR


Watch Video Solution

155. how will you distinguish between 1-

phenylethanol and 2-phenyl ethanol?

Watch Video Solution

156. Write the iupac name of

Watch Video Solution

https://dl.doubtnut.com/l/_e3L1I8NfuMFR
https://dl.doubtnut.com/l/_zFWQiYiuBBaZ
https://dl.doubtnut.com/l/_q2OBl2lY8fPG


157. Formylation of phenol is ....... reaction.

Watch Video Solution

158. Why is phenol more acidic than alcohol?

Watch Video Solution

159. What is Reimer-Tiemann reaction?

Watch Video Solution

https://dl.doubtnut.com/l/_pnEuFI0zeCHz
https://dl.doubtnut.com/l/_SSZ84iMEdIUI
https://dl.doubtnut.com/l/_fueJhri7lG6f


160. How will you synthesize salicylic acid from

phenol ?

Watch Video Solution

161. how are the following conversions carried out?

ethanol to 2 propanol?

Watch Video Solution

162. phenol to acetophenone?

Watch Video Solution

https://dl.doubtnut.com/l/_GtmZ1yNsQ6mJ
https://dl.doubtnut.com/l/_6USycwTVqMPl
https://dl.doubtnut.com/l/_5AV8HZbNgUhl


163. Find  and  for the function 


Watch Video Solution

f(√2) f( − √3)

164. Which has zero dipole moment?

Watch Video Solution

https://dl.doubtnut.com/l/_5AV8HZbNgUhl
https://dl.doubtnut.com/l/_cEraJXtnhlrE
https://dl.doubtnut.com/l/_lkFqx6FW9AR0


165. Write the IUPAC name of the following compund

:

Watch Video Solution

166. Write the IUPAC name

Watch Video Solution

https://dl.doubtnut.com/l/_jYLpxIEyRdi9
https://dl.doubtnut.com/l/_Oq0oKB8SoxXf
https://dl.doubtnut.com/l/_dNgW5n6YEZir


167. Find  and  for the function 


Watch Video Solution

f(√2) f( − √3)

168. Formic acid is a stronger acid than acetic

acid.Explain

Watch Video Solution

https://dl.doubtnut.com/l/_dNgW5n6YEZir
https://dl.doubtnut.com/l/_zSA9PkHzDzVz


169. Phenol is more acidic than

Watch Video Solution

170. how will you convert propan-1-ol to propan-2-ol?

Watch Video Solution

171. Ethanol is soluble in water due to :

Watch Video Solution

https://dl.doubtnut.com/l/_9w4F6zGc9QsT
https://dl.doubtnut.com/l/_BPhwlPhhwxYe
https://dl.doubtnut.com/l/_rofiXHQAUxQd


172. Which one among the following is Williamson's

synthesis:

Watch Video Solution

173. How will you convert phenol to 2,4,6-tribromo

phenol?

Watch Video Solution

174. Give the reaction of phenol with benzene

diazonium chloride.

https://dl.doubtnut.com/l/_mRRX42UDGHCe
https://dl.doubtnut.com/l/_ydRo3hCbsNFH
https://dl.doubtnut.com/l/_4JIvCDDjgoFr


Watch Video Solution

175. How will you convert :Chlorobenzene to toluene

?

Watch Video Solution

176. Picric acid is

Watch Video Solution

https://dl.doubtnut.com/l/_4JIvCDDjgoFr
https://dl.doubtnut.com/l/_Hvdu4reooh8V
https://dl.doubtnut.com/l/_8nXBZOegQdNy


177. How will you convert phenol to 2,4,6-tribromo

phenol?

Watch Video Solution

178. Sulphonation of phenol gives _______

Watch Video Solution

179. Arrange the following amines in the increasing

order of their basicity : 

  C2H5 − NH2 CH3 − NH2 C6H5 − NH2

https://dl.doubtnut.com/l/_f02aWzeB1Qx4
https://dl.doubtnut.com/l/_iIHZChA2y1O8
https://dl.doubtnut.com/l/_Kdns6YUr6aMk


Watch Video Solution

180. How phenol is obtained from chlorobenzene ?

Watch Video Solution

181. Alcohols are comparatively more soluble in

water than hydrocarbons of comparable molecular

masses. Explain this fact.

Watch Video Solution

https://dl.doubtnut.com/l/_Kdns6YUr6aMk
https://dl.doubtnut.com/l/_MvZiWUTyXCS3
https://dl.doubtnut.com/l/_nfsH6o56gDvH


182. Smoking is harmful as it produces polycyclic

aromatic hydrocarbons that cause:

Watch Video Solution

183. Explain about the sulphonation of benzene.

Watch Video Solution

184. What happens when halogen reacts with

benzene ?

Watch Video Solution

https://dl.doubtnut.com/l/_0FsfT6iczBFY
https://dl.doubtnut.com/l/_H5IFAm8OdcUp
https://dl.doubtnut.com/l/_I8gINlEgKM7v


185. Write short note on Huckel’s rule ?

Watch Video Solution

186. Find  and  for the function 


Watch Video Solution

f(√2) f( − √3)

https://dl.doubtnut.com/l/_I8gINlEgKM7v
https://dl.doubtnut.com/l/_OzUVMgEZAPjf
https://dl.doubtnut.com/l/_omibOOPMixlk


187. Find  and  for the function 


Watch Video Solution

f(√2) f( − √3)

https://dl.doubtnut.com/l/_tCoJElcwmcOR


188. Find  and  for the function 


Watch Video Solution

f(√2) f( − √3)

https://dl.doubtnut.com/l/_fPF32Ku0Jfz9


189. Find  and  for the function 


Watch Video Solution

f(√2) f( − √3)

https://dl.doubtnut.com/l/_wv12ugdcgntw


190. Find  and  for the function 


Watch Video Solution

f(√2) f( − √3)

191. Write the name and formula of the ester formed

in the reaction of acetyl chloride and methyl alcohol.

Watch Video Solution

https://dl.doubtnut.com/l/_omHzRFcBvuvw
https://dl.doubtnut.com/l/_YQOtUBMRcq6m


192. How will you convert acetone into 2-Methyl-2-

propanol ?

Watch Video Solution

193. What happens when alcohol is treated with

ammonia under pressure in presence of ?

Watch Video Solution

Al2O3

194. What happens when ethanol is warmed with

acidified ?K2Cr2O7

https://dl.doubtnut.com/l/_uspqFUfLuLcK
https://dl.doubtnut.com/l/_A32gaRh3qQW8
https://dl.doubtnut.com/l/_HlewYNfTigIh


Watch Video Solution

195. What is Lucas reagent?

Watch Video Solution

196. Explain, why phenol is acidic, while ethyl alcohol

is neutral.

Watch Video Solution

https://dl.doubtnut.com/l/_HlewYNfTigIh
https://dl.doubtnut.com/l/_6cItNgfq3Md8
https://dl.doubtnut.com/l/_YLdbr22IpkLJ


197. How can you prepare phenol by using benzene

diazonium chloride ?

Watch Video Solution

198. What happens when phenol is heated with zinc

dust ?

Watch Video Solution

199. How can methyl alcohol be converted into ethyl

alcohol?

https://dl.doubtnut.com/l/_tj74LS431M0Q
https://dl.doubtnut.com/l/_qFf5A5Z47FUa
https://dl.doubtnut.com/l/_zo4H2irEcp5i


Watch Video Solution

200. How acetic acid is prepared from methyl

cyanide?

Watch Video Solution

201. Give a chemical test to distinguish between

ethyl alcohol and methyl alcohol.

Watch Video Solution

https://dl.doubtnut.com/l/_zo4H2irEcp5i
https://dl.doubtnut.com/l/_OuqUsBO8LC0i
https://dl.doubtnut.com/l/_gaiP7ifx9NNI


202. What happens when acetic acid reacts with

ethyl alcohol in presence of conc.  ?

Watch Video Solution

H2SO4

203. How can you get ethyl chloride from ethyl

alcohol? Give equation.

Watch Video Solution

204. How ethylene is obtained from ethyl alcohol ?

Give equation.

https://dl.doubtnut.com/l/_MYLJTWgOL35i
https://dl.doubtnut.com/l/_3bn5IinKebRX
https://dl.doubtnut.com/l/_sFL9WgOoQC00


Watch Video Solution

205. How different types of alcohols can be tested by

Lucas Test ?

Watch Video Solution

206. How can you distinguish between

 alcohols by Victor Meyer's method ?

Watch Video Solution

1∘ , 2∘ and 3∘

https://dl.doubtnut.com/l/_sFL9WgOoQC00
https://dl.doubtnut.com/l/_pASGy37bOs6s
https://dl.doubtnut.com/l/_uaVZOJkHiaMD


207. Explain, why phenol is acidic, while ethyl alcohol

is neutral.

Watch Video Solution

208. What is Reimer-Tiemann reaction?

Watch Video Solution

209. Explain why sodium metal can be used for

drying diethyl ether but not ethyl alcohol ?

Watch Video Solution

https://dl.doubtnut.com/l/_GK2gh0iQ1vFy
https://dl.doubtnut.com/l/_WagTSOlIWFDd
https://dl.doubtnut.com/l/_2fXoZPyIM2kh


210. Explain esterification of phenol

Watch Video Solution

211. What happens when phenyl acetate is heated

with anhydrous aluminium chloride ?

Watch Video Solution

212. How can methyl alcohol be converted into ethyl

alcohol?

https://dl.doubtnut.com/l/_2fXoZPyIM2kh
https://dl.doubtnut.com/l/_fcQqq1mbkDYl
https://dl.doubtnut.com/l/_fhtX9p3ju3aO
https://dl.doubtnut.com/l/_9nrqslmxvpmB


Watch Video Solution

213. Identify A, B,C and D.

Watch Video Solution

https://dl.doubtnut.com/l/_9nrqslmxvpmB
https://dl.doubtnut.com/l/_K1k6YH2uefkE


214. Find  and  for the function 


Watch Video Solution

f(√2) f( − √3)

215. draw the structure of 2,6 -dimethyl phenol

Watch Video Solution

https://dl.doubtnut.com/l/_mCzVJNcvo2vl
https://dl.doubtnut.com/l/_nS0fhcgrtHEI
https://dl.doubtnut.com/l/_nEpnjMMH5F2I


216. how is phenol prepared from aniline?

Watch Video Solution

217. how will you convert propan-1-ol to propan-2-ol?

Watch Video Solution

218. How will you prepare ethyl alcohol from

acetaldehyde and ethyl acetate?

Watch Video Solution

https://dl.doubtnut.com/l/_nEpnjMMH5F2I
https://dl.doubtnut.com/l/_AXLTFCdZCoM3
https://dl.doubtnut.com/l/_H2q1WGC2WnLy
https://dl.doubtnut.com/l/_j4QnUSiSBEYF


219. How is phenol prepared by Dow's process?What

happens when phenol is treated with  in  at

273K.

Watch Video Solution

Br2 CS2

220. how will you distinguish between 1-

phenylethanol and 2-phenyl ethanol?

Watch Video Solution

221. why are ethers relativity inert compounds?

Watch Video Solution

https://dl.doubtnut.com/l/_j4QnUSiSBEYF
https://dl.doubtnut.com/l/_TZJDusOx6QiB
https://dl.doubtnut.com/l/_jo0vO1oKgM83


Watch Video Solution

222. Find  and  for the function 


Watch Video Solution

f(√2) f( − √3)

223. The most suitable method of separation of 1 :1

mixture of ortho and para nitrophenols is:

h id l i

https://dl.doubtnut.com/l/_jo0vO1oKgM83
https://dl.doubtnut.com/l/_RQb1f5CWqNxQ
https://dl.doubtnut.com/l/_x1Ix2OE8z2c7


Watch Video Solution

224. Arrange the following compounds in the

decreasing order of their boiling points. 

Watch Video Solution

225. Give an account of neucleophilic substitution

reactions in haloarenes?

Watch Video Solution

https://dl.doubtnut.com/l/_x1Ix2OE8z2c7
https://dl.doubtnut.com/l/_6xiH5bCoGG1o
https://dl.doubtnut.com/l/_2exRS67JbrfO


226. Which of the following cannot be prepared by

Williamson synthesis ?

Watch Video Solution

227. How does diethyl ether reacts with 

Watch Video Solution

O2

https://dl.doubtnut.com/l/_2exRS67JbrfO
https://dl.doubtnut.com/l/_KRxyheB6aPYa
https://dl.doubtnut.com/l/_a7giHT8Zx4bl


228. How can you prepare alcohol from acetaldehyde

without using reducing agent ?

Watch Video Solution

229. The rate law for the reaction, 

Ester +  Acid + Alcohol, is given as, 


 


What would be the effect on the rate if 

concentration of the ester is halved?

Watch Video Solution

H + →

= k[Ester][H + ]
0dx

dt

https://dl.doubtnut.com/l/_F53BJdaER7Kt
https://dl.doubtnut.com/l/_GFqqzMOtZC14
https://dl.doubtnut.com/l/_L4IXgoy15SBc


230. Which reactions distinguish aldehydes and

ketones ?

Watch Video Solution

231. Grignard reagent undergoes :

Watch Video Solution

232. How can you distinguish between primary,

secondary and tertiary alcohols? With equation

explain how does ethyl alcohol react with (i) acidified

https://dl.doubtnut.com/l/_L4IXgoy15SBc
https://dl.doubtnut.com/l/_53mSVBdXAFTk
https://dl.doubtnut.com/l/_Q45MXJv1RtEN


, solution and(ii) phosphorous

pentachloride?

Watch Video Solution

K2Cr20 _ 7

233. During alcoholic fermentation inorganic salts

like ammonium phosphate are added :

Watch Video Solution

234. What happens when  gas is passed

through acidified  solution ?

Watch Video Solution

H2S

K2Cr2O7

https://dl.doubtnut.com/l/_Q45MXJv1RtEN
https://dl.doubtnut.com/l/_l195PEMH3fPa
https://dl.doubtnut.com/l/_Dh8X1CeZQEKm


235. Isopropyl alcohol on passing over heated

copper at  gives :

Watch Video Solution

300∘C

236. The correct order of the ease with which

primary, secondary and tertiary alcohols can be

dehydrated using concentrated  is :

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_Dh8X1CeZQEKm
https://dl.doubtnut.com/l/_iLelQV7cyoRO
https://dl.doubtnut.com/l/_9szmU9KNlVMz


237. How can you distinguish between

 alcohols by Victor Meyer's method ?

Watch Video Solution

1∘ , 2∘ and 3∘

238. How is phenol obtained from sodium benzene

sulphonate ?

Watch Video Solution

239. What is diazonium salt ?Give its preparation.

Watch Video Solution

https://dl.doubtnut.com/l/_rRJabwXAdUhp
https://dl.doubtnut.com/l/_JiCsaPDhCpwk
https://dl.doubtnut.com/l/_7YkJH7DdWQRV


240. Discuss nucleophilic and electrohhilic reactions

of haloarene.

Watch Video Solution

241. How can you prepare phenol from cumene ?

Watch Video Solution

242. Explain the acidic character of phenol.

Watch Video Solution

https://dl.doubtnut.com/l/_7YkJH7DdWQRV
https://dl.doubtnut.com/l/_8lEcbVnzN9yJ
https://dl.doubtnut.com/l/_o5YpLaBX0U0m
https://dl.doubtnut.com/l/_Af3AGglDCb2z


243. Phenol is more acidic than

Watch Video Solution

244. Explain the acidic character of phenol.

Watch Video Solution

https://dl.doubtnut.com/l/_Af3AGglDCb2z
https://dl.doubtnut.com/l/_FcriUTkehNwA
https://dl.doubtnut.com/l/_WjKxduUjGBJy


245. Complete the following reactions 

Watch Video Solution

246. Sodium nitrate on heating with zinc dust and

caustic soda gives

Watch Video Solution

https://dl.doubtnut.com/l/_a7e7xODL3S1G
https://dl.doubtnut.com/l/_8GNzEOyd5ttu


247. Discuss substitution reactions of phenol.

Watch Video Solution

248. Discuss Reimer-Tiemann reaction.

Watch Video Solution

249. Describe the preparation of ether by

dehydrogenation of alcohols.

Watch Video Solution

https://dl.doubtnut.com/l/_aHubhrl2w6SR
https://dl.doubtnut.com/l/_7aMXnDwb2b1I
https://dl.doubtnut.com/l/_YOJ0auRqXaXm


250. Which one is obtained by Williamson synthesis?

Watch Video Solution

251. Explain the cleavage of C-O bond in ether with

examples and mechanism.

Watch Video Solution

252. The order of reactivity of benzene,

chlorobenzene & phenol towards electrophilic

substitution is

https://dl.doubtnut.com/l/_UZg5MSoAyJfe
https://dl.doubtnut.com/l/_at6wTDyJadWs
https://dl.doubtnut.com/l/_TX40mdUz3wuU


Watch Video Solution

253. Why is phenol more acidic than alcohol?

Watch Video Solution

254. Give any two methods for the preparation of

primary amine. How does it react with 

Watch Video Solution

CH3COCl

https://dl.doubtnut.com/l/_TX40mdUz3wuU
https://dl.doubtnut.com/l/_77EADBEHXEzD
https://dl.doubtnut.com/l/_7sj0SiVl5kc5


255. Write reaction and conditions for the

conversion of benzyl chloride to benzaldehyde.

Watch Video Solution

256. How will you convert acetone into 2-Methyl-2-

propanol ?

Watch Video Solution

257. phenol to acetophenone?

Watch Video Solution

https://dl.doubtnut.com/l/_N8fFCsaCyls0
https://dl.doubtnut.com/l/_i8lbOVRZ5g8l
https://dl.doubtnut.com/l/_TZ0dfxUZ02fN


258. Butan-2-ol is :

Watch Video Solution

259. Write the names of reagents and equations for

the preparation of the following ethers by

Williamson's synthesis. 

1-propoxy propane

Watch Video Solution

https://dl.doubtnut.com/l/_TZ0dfxUZ02fN
https://dl.doubtnut.com/l/_cQx6xogtTaJ7
https://dl.doubtnut.com/l/_EvAbevEpjGN7


260. Draw the structure and name the product

formed if the alcohol are oxidised. Assume that an

excess of oxidising agent is used. 

Watch Video Solution

CH3CH2CH2CH2OH

261. How will you convert the following 

Benzene to aniline

Watch Video Solution

https://dl.doubtnut.com/l/_RwKReWcppcSW
https://dl.doubtnut.com/l/_yG1zt39MbL4z


262. Explain why is ortho-nitrophenol more acidic

than ortho-methoxyphenol?

Watch Video Solution

263. Predict the products of the following reactions :

Watch Video Solution

https://dl.doubtnut.com/l/_JgJGj7goiKDp
https://dl.doubtnut.com/l/_14LjZLq54KId


264. How will you convert 

propene to propan-1-ol ?

Watch Video Solution

265. Write the organic compounds formed in the

following reaction 

Watch Video Solution

https://dl.doubtnut.com/l/_a08pO8vaYxUK
https://dl.doubtnut.com/l/_wKgvGdv36lJc


266. Describe the mechanism of acid catalysed

dehydration of ethanol to yield ethene. 

How will you convert 

(1) propene to propan-2-ol? 

(ii) phenol to 2, 4, 6-trinitrophenol ?

Watch Video Solution

https://dl.doubtnut.com/l/_ThpmAb0kdzhU


267. Find  and  for the function 


Watch Video Solution

f(√2) f( − √3)

268. how are the following conversions carried out?

ethanol to 2 propanol?

Watch Video Solution

https://dl.doubtnut.com/l/_KJFEoeWXtwM1
https://dl.doubtnut.com/l/_QEDMoGaU0Xhc


269. Give a chemical test to distinguish between

Isopropyl alcohol & n-propyl alcohol.

Watch Video Solution

270. Write the mechanism of the reaction of HI with

methoxy methane.

Watch Video Solution

271. How conversion carried out 

Benzyl chloride  Benzyl alcohol→

https://dl.doubtnut.com/l/_4zJ9dNo1XdNI
https://dl.doubtnut.com/l/_1K0kYheaXZ7o
https://dl.doubtnut.com/l/_D0rRD0jdoJOc


Watch Video Solution

272. Name the reagent in the reaction. 

Oxidation of primary alcohol to a carboxylic acid.

Watch Video Solution

273. Dehydration of alcohol involves :

Watch Video Solution

https://dl.doubtnut.com/l/_D0rRD0jdoJOc
https://dl.doubtnut.com/l/_hm20Z6zzCZt6
https://dl.doubtnut.com/l/_CSBpMgSbHOjj


274. How can the following conversion be carried

out? 

Propene to propan-1-ol

Watch Video Solution

275. Explain the fact that in aryI alkyl ether, 

the alkoxy group activates the benzene ring towards

electrophilic substitution.

Watch Video Solution

https://dl.doubtnut.com/l/_q3jGdvhw2I9o
https://dl.doubtnut.com/l/_EQm14J9oyQUB


276. Explain the mechanism of double fertilization.

Watch Video Solution

277. Phenyl methyl ether reacts with HI to give

phenol and methyl iodide and not iodobenzene and

methyl alcohol. Why ?

Watch Video Solution

https://dl.doubtnut.com/l/_i0AwpwumExbk
https://dl.doubtnut.com/l/_HGLSu2hO5ylQ


278. Find  and  for the function 


Watch Video Solution

f(√2) f( − √3)

279. How will you prepare phenol from 

benzene sulphonic acid

Watch Video Solution

https://dl.doubtnut.com/l/_WLFaR8dxG1mD
https://dl.doubtnut.com/l/_dyuSpo9f4T0l


280. How can you prepare acetaldehyde from

alcohol?

Watch Video Solution

281. Explain the acidic character of phenol.

Watch Video Solution

https://dl.doubtnut.com/l/_KJs4lGriEjK4
https://dl.doubtnut.com/l/_R6bom1nMBHD4

